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Real Life Maths Questions

Remember to: 

• 300 is 150
• 500 is 250
• 700 is 350
• 900 is 450

What is half of 300?

Pom spends £700 on 2 computers. How much does each 
computer cost?

Mully has 900kg of sugar. He makes two piles. How much sugar 
is in each pile?

Pom has 500L of milk. He pours it into 2 barrels. How much 
milk is in each barrel?

Pim has 300 cards. He shares them between 2 friends. How 
many cards does each friend have?
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Real Life Maths Answers

The answer is 150.

Each computer costs £350.

There is 450kg of sugar in each pile.

There is 250L of milk in each barrel.

Each friend has 150 cards.

What is half of 300?

Pom spends £700 on 2 computers. How much does each 
computer cost?

Mully has 900kg of sugar. He makes two piles. How much sugar 
is in each pile?

Pom has 500L of milk. He pours it into 2 barrels. How much 
milk is in each barrel?

Pim has 300 cards. He shares them between 2 friends. How 
many cards does each friend have?

Remember to: 

• 300 is 150
• 500 is 250
• 700 is 350
• 900 is 450


